



















Regression Analysis								
Source of	Sum of	Degrees of	Mean	F				
Variation	Squares	Freedom	Square	Ratio				
Regression	SSR	р	MSR	MSR/MSE				
Error	SSE	n-p-1	MSE					
Total	SST	n-1						
To carry out a a test at 95% confidence, compare the calculated F ratio against a value from a table of the F distribution with p and n-p-1 degrees of freedom (Table A2.4 in Manly).								
Module 3.2								









		a araaaian A	achraia
Exall	ipie R	egression Al	laiysis
Х	Y	X	Y
1	10	3.6	75
1.2	28	4	95
1.5	15	4	60
2	45	4.5	72
2	35	5	87
2.2	20	5.2	69
2.2	60	5.8	48
2.6	81	6	57
3	45	6	70
3	69	6.5	55
		Module 3.2	40

Example Regression Analysis						
ANOVA	SS	df	MS	F	Signifi	cance of F
Regression	3535.4	1	3535.4	8.7	0.0087	
Residual	7351.8	18	408.4			
Total	10887.2	19				
Co	Standard Error			t Stat	P-value	
Intercept	26.99		10.48		2.58	0.02
X Variable	7.80		2.65		2.94	0.01
R ² = 0.32						
Module 3.2					Ð	





Exam	ole R	eg	ressi	on	Ana	lysis	5
• $Y = B_0 + B_1 X + B_2 X^2$							
ANOVA	SS	df	MS	F	Significa	nce of F	
Regression	7429.2	2	3714.6	18.3	0.00006	5	
Residual	3458.0	17	203.4				
Total	10887.2	19					
Co	efficients	fficients Standard Error			t Stat	P-value	
Intercept	-36.54	16.29		-2.24	0.04		
X Variable	50.74		9.99		5.08	0.00009	
X ² Variable	-5.74		1.31		-4.38	0.0004	
R ² = 0.68		N	Nodule 3.2				20

